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FOREWORD

The National Examinations Council of Tanzania is pleased to issue the Candidates’
Item Response Analysis (CIRA) for Advanced Certificate of Secondary Education
Examination (ACSEE) 2020 in the Economics subject. The analysis provides
feedback to the educational administrators, students, teachers, parents, policy
makers and the public in general on the performance of the candidates.

The Advanced Certificate of Secondary Education Examination (ACSEE) marks
the end of the two years of Advanced Secondary Education. This summative
evaluation shows among other things, the effectiveness of the education system in
general and the education delivery system in particular. Essentially, the candidates’
responses to the examination questions strongly indicate what the education system
was or was not able to offer to the candidates in their two years of Advanced
Secondary Education.

The analysis presented in this report seeks to contribute towards the understanding
of possible reasons for the candidates’ performance on each question. The report
highlights some of the factors that made the candidates to score high marks on the
questions. Such factors include the ability to adhere to the demands of the
questions, identify the tasks of the questions, express themselves in the English
language and the knowledge of the concepts related to the subject. Furthermore,
the analysis highlights the factors that made a few candidates to score low marks on
the questions. Such factors include failure to adhere to the demands of the
questions, failure to identify the tasks of the questions and lack of knowledge about
the question related to the subject. The feedback provided will enable the
educational administrators, school managers, teachers, and students to identify
proper measures to improve candidates’ performance in the future examinations
administered by the Council.

Finally, the Council would like to thank the Examinations Officers, Examiners and
those who participated in processing, analysing, and preparing this report.

A

Dr Charles E. Msonde
EXECUTIVE SECRETARY

iv



1.0 INTRODUCTION

This report presents the performance of the candidates who sat the Advanced
Certificate of Secondary Education Examination in June and July 2020 on
Economics. It shows how the candidates performed on each question.

The examination tested the candidates’ abilities as per the requirements of the
2009 syllabus. The examination comprised two papers: 151/1 Economics 1
(Economic Theory) and 151/2 Economics 2 (Economic Development). Each
paper consisted of 8 questions which were distributed into Sections A, B, and
C. In each paper, the candidates were required to answer 6 questions in
Section A and 2 questions from each sections, namely B and C. In Section A
each question carried 10 marks, while in Sections B and C, each question
carried 20 marks.

A total of 11,313 candidates sat the ACSEE 151 Economics paper. Among
them, 11,188 (99.28%) candidates passed this examination while 81(0.72%)
candidates failed. Generally, the candidates’ performance in 2020 has
increased by 1.03% when compared to the 2019 performance where 11,377
candidates sat the examination in which 11,103 (98.25 %) candidates passed
and 198 (1.75 %) candidates failed.

This report analyses performance on each question by giving an overview of
what the candidates were required to do, how they responded to the questions,
and what reasons led to their good or poor performance. The candidates’
performance on each question was considered weak if their scores ranged
from O to 34 marks, average if the scores ranged from 35 to 59 marks and
good if the scores ranged from 60 to 100 marks. Similarly, the overall
candidates’ performance in the entire examination was considered weak if the
candidates’ scores range from 0 to 34%, average if the scores range from 35 to
59% and good if their scores ranged from 60 to 100%.

Special colours are used to show their performance, whereby green stands for
good, yellow for average, and red for weak as seen in graphs and the
appendix. Some extracts showing the candidates responses are included to
provide a general overview of how the candidates responded in accordance
with the demands of each question.



2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE ON EACH
QUESTION

2.1

2.11

PAPER 1: 151/1 ECONOMIC THEORY

Question 1: Production
This was a short answer question in which the candidates were
required to describe five factors that determine real wages.

The question was attempted by all 11,047 (100%) candidates; among
them 9,440 (85.5%) scored from 0 to 3 marks, 1,051 (9.5%) scored
from 3.5 to 5.5 marks, and 556 (5%) scored from 6 to 10 out of the 10
allotted marks. Generally, the performance of candidates on this
question was poor since 85.5 percent scored from 0 to 3 marks. Figure
1 shows the distribution of the candidates’ scores.

Scores

m(0-3
50% 35-55

m6-10

Figure 1: Candidates’ Performance on Question 1

A total of 9,440 candidates (85.5%) who attempted this question failed
to understand the requirements of the question. Most of them
misinterpreted the concepts of nominal wages and real wages. Hence
they failed to describe the factors that determine real wages, namely
the regularity of the job, time and cost of training, and permanency of
the work. Instead, they described factors that determine efficiency of
labour. Real wages of the workers in one field may differ due to
different inborn qualities and the level of education and training, as
well as conditions under which the work is performed. however,
2



nominal wages are constant because they are a fixed amount of money.
These concepts differ because the real wage rate is the quantity and
quality of goods which can be bought by a certain amount of money
given as wages. This involves mathematical derivations while
nominal wage refers to a fixed amount of money given as a wage rate.
For example, some of the candidates incorrectly defined real wages
and nominal wages as the amount of remuneration that a person
receives at the end of the month as the payment for the work done.
Moreover, other candidates explained the level of output of the firm as
a factor which determine real wages of the labourer while labour is
paid a wage because it is employed as a factor for production. This
indicates that the candidates had insufficient knowledge of the
concepts used in pricing labour as a factor for production and they
explain factors that influence productivity of labour or wages instead
of the factors that determine real wages. The responses from the
candidates who performed poorly had several weaknesses which make
them score different marks within the group. Extract 1.1 is a sample of
the poor responses.
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Extract 1.1 is a sample of the poor responses.

The Extract shows the candidate failed to describe the determinants

of real wages; instead, he/she explained the factors that influence
productivity of labour.

However, 1,051 candidates (9.5%) with moderate scores
insufficiently explained the determinants of real wages. Most of
these candidates had a better understanding of the question as they
correctly explained some of the determinants of real wages such as
meal allowance and health insurance. Some of the candidates
explained less than the five required points while others partially
explained all the five required points but without satisfactory
explanations. Also, other candidates mixed up correct responses
with those that were suitable for wage differentials or wages in
general instead of real wages.



A total of 556 candidates (5%) who performed well on this question
precisely described the factors that determine real wages such as
extra facilities, nature of the job, and working hours. The candidates
provided clear explanations with vivid examples in most of the
points. For example, some of the candidates explained that extra
facilities like rewards to the best workers, transport allowance,
uniforms, and education discount to their children may determine the
real value of their real wages. However, the candidates’ scores in this
category varied because some of them did not exhaust all the
required points while others could provide the necessary details with
examples in some points only. A sample of a good response is
shown in Extract 1.2
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Extract 1.2 is a sample of the good responses.
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2.1.2 Question 2: Population
This was a short answer question in which the candidates were
required to analyse five effects of high population density in
developing countries.

The question was attempted by all 11,306 (100%) candidates; among
them 384 (3.4%) scored from 0 to 3 marks, 2,324 (20.6%) scored from
3.5 to 5.5 marks, and 8,598 (76%) scored from 6 to 10 out of the 10
allotted marks. Generally, the performance of candidates on this
question was good since 96.6 percent scored 3.5 marks and above.
Figure 2 shows the distribution of the candidates’ scores.
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Figure 2: Candidates’ Performance on Question 2

A total of 8,598 candidates (76%) who performed well on this
question  analysed the effects of high population density on
developing countries, and they had a clear understanding of the
demands of the question. Most of the candidates highlighted effects
such as poor living standards, which lead into the congestion in
social services; environmental degradation since a higher population
demands more natural and artificial resources to survive; and a
higher dependence ratio, which tends to discourage savings and
investment. Concerning the increase in dependence ratio, some of
the candidates explained that; due to the problem of unemployment,
the majority of the unemployed people become a burden to the
employed as well as those who migrate town. The variation of scores
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among the candidates in this category was attributed to the individual
candidates’ ability to offer clear explanations, relevant examples, and
the number of points analysed. This is shown in Extract 2.1.
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Extract 2.1 is a sample of the good responses.

A total of 2,324 candidates (20.6%) who scored averagely clearly

analysed the effects of high population density on the developing
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countries only in less than the five effects to be analysed. Some
candidates analysed all the five required points, but they gave partial
explanations. Nevertheless, some of these candidates misinterpreted
the question and mixed up correct responses with the causes of high
population density. The weakness of each candidate examined made
them to score different marks within this group.

Additionally, 384 candidates (3.4%) performed poorly on this
question. They failed to adhere to the demand of the question. They
had insufficient knowledge and skills in population theories. For
example, some of them misconceived the question and provided
factors for high population density in urban centres. These include
rural-urban migration, which is accelerated by people from the rural
areas that search for greener pastures, white-collar jobs, or high
income-generating opportunities, instead of the effects of higher
population density. In contrary, others provided factors for a higher
fertility rates such as using labour-intensive production techniques
and chauvinism, instead of the effects of population density.
However, many candidates in this category tried to analyse at least
two effects. Extract 2.2 shows a sample of the poor responses.
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Extract 2.2 is a sample of the poor responses.

The Extract shows the candidate failed to analyse the effects of high
population density on developing countries.

2.1.3 Question 3: Theory of Demand and Supply
This was a structured question, with parts (a) and (b). In part (a), the
candidates were given a table and required to (i) calculate income
elasticity of demand for commodity A, B, C, and D, and (ii) to give
classification of each type of commodity. In part (b), the candidates
were required to analyse four practical applications of elasticity of

supply.



The question was attempted by 6,860 (100%) of the candidates;
among them 1,905 (27.8%) scored from 0 to 6.5 marks, 3,646
(53.1%) scored from 7 to 11.5 marks and 1,309 (19.1%) scored from
12 to 20 out of the 20 allotted marks. Generally, the performance of
candidates on this question was good since 72.2 percent scored 7
marks and above. Figure 3 shows the distribution of the candidates’
scores.
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Figure 3: Candidates’ Performance on Question 3

A total of 1,309 candidates (19.1%) performed well in this question.
These were familiar with the mathematical skills applied in
economics. They correctly calculated and provided economic
information revealed in the mathematical derivations. For example, in
part (a) (i), some of the candidates calculated the income elasticity of
demand for each commodity, and, in part (ii) they managed to classify
each type of commodity. However, some disparities were observed in
their scores. The disparities were caused by the extent of accuracy of
their correct points in their calculations, interpretation of the
mathematical derivations, classification of the commodities, and the
demands of the question. In part (b), the majority of the candidates
correctly analysed practical applications of the elasticity of supply
such as decision making by the government in correcting deficit
balance of payments and policy makers in tackling structural rigidities
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like the land tenure system, determining economic growth, and
development regulating supply of commodities and agricultural
implements in the economy as well as the stabilization of the prices of
agricultural products. Besides, in this part, the scores varied due to
different abilities of the candidates to argue and the number of correct
arguments presented. Extract 3.1 shows a sample of the good
responses.
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Extract 3.1 is a sample of the well attempted questions.

In this Extract the candidate managed to (i) calculate the income
elasticity of demand for each commodity, and (ii) give the
classification of each type of commodity. In part (b), the candidate
managed to analyse four practical applications of elasticity of

supply.

However, the3,646 candidates (53.1%) who scored moderately used
some of the formulae to calculate the income elasticity of demand for
different commodities in part (a) (i) and (ii). Some of the candidates
properly gave the classification required for each commodity.
Similarly, in part (b), some of the candidates correctly provided
answers while others due to inadequate mathematical skills wrong
formula application others failed to give relevant explanations and
practical applications of the elasticity of supply. Although the
candidates provided sufficient points to the demands of the question,
they scored less marks in parts (a) and (b) because their points were
unsupported.

Moreover, the 1,905 candidates (27.8%) who performed poorly on

this question failed to apply mathematical skills and the required

formulae to determine the required variables. In part (a), some of the

candidates applied the wrong formula in computation of income

elasticity of demand. Consequently, they provided the wrong

classification of commodities. In addition, others were good at
13



calculation but they failed to classify the commodities. In part (b),
most of the candidates in this category failed to give the practical
application of elasticity of supply in the economy for they confused
the practical applications of elasticity of supply. This indicates that
not only did they have insufficient knowledge about the theories of
demand and supply but also they failed to integrate the theories and
practical application into the economy. Extract 3.2 shows a sample of
the poor responses.
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Extract 3.2 is a sample of the poor responses.

The Extract shows the candidate failed to compute the income
elasticity of demand because he/she used a wrong formula in part (a).
In part (b) the candidate failed to analyse and provide the practical
applications of the elasticity of supply.

2.1.4 Question 4: Subject Matter of Economics
The question had parts (a) and (b). In part (a), the candidates were
required to illustrate production possibility frontier by using a graph.
In part (b), they were required to identify four assumptions of
production possibility frontier.

The question was attempted by 8,406 (100%) of the candidates.
Among them, 1,840 (21.9%) scored from 0 to 6.5 marks, 3,829
(45.5%) scored from 7 to 11.5 marks, and 2,737 (32.6%) scored from
12 to 20 out of the 20 allotted marks. Generally, the performance of
candidates on this question was good since 78.1 percent scored 7
marks and above. Figure 4 shows the distribution of the candidates’
scores.
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Figure 4: Candidates’ Performance on Question 4

Most of the candidates (2,737 (32.6%)) who performed well on this
question had a sufficient knowledge of the Production Possibility
Frontier. They had the sufficient arithmetic skills and mathematical
derivations to use formulae and interpret the observations in explaining
the production possibility curves and related concepts. They managed
to use statistics and diagrams to illustrate the assumptions of the
production possibility frontier in production. In part (a), for example,
some of the candidates illustrated the Production Possibility Curve
using graphs. Furthermore, in part (b), the candidates identified
assumptions of Production Possibility Frontier (PPF).They gave out
assumptions such as the constant level of technology, only two goods
are produced, and fully utilization of resources. Nevertheless, the
differences observed from the candidates’ scores depended on the
ability of the candidates to illustrate the production possibility curves in
the diagram provided and the mathematical skills to identify the
assumptions of the production possibility frontier. Extract 4.1 shows a
sample of good responses to this question.
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Extract 4.1 is a sample of good responses.

On the other hand, the 3,829 candidates (45.5%) with average marks
showed a better understanding of the requirements of the question.
Some of the candidates clearly attempted in part (a) by illustrating
production possibility curves with clear labelled diagrams but failed to
identify the assumptions of Production Possibility Frontier in part (b).
In contrast, other candidates correctly identified the assumptions of
production possibility frontier and failed to illustrate it clearly. In this
category, the marks of the candidates differ due to their ability, clarity,
and accuracy in illustrating and identifying the production possibility
frontier. This indicates that the candidates were less equipped with the
relevant knowledge about the topic.

On the other hand, 1,840 candidates (21.9%) with poor performance on
this question failed to recognize the requirement of the question. Most
of the candidates in this category misunderstood the question and
deviated from the demand of the question due to their insufficient
knowledge and skills in the subject matter. In part (a), for instance,
some of the candidates failed to illustrate the Production Possibility
Frontier by sketching positive linear graphs with incorrect labelling. In
part (b), these candidates failed to give the assumptions of the
Production Possibility Frontier. Some of the candidates stated that
Labour is not mobile; there are homogenous products and no climatic
change. In contrast, others stated that capital and land are fixed factors
and the quantity of money to be used is a variable. Both are contrary to
the assumptions of the Production Possibility Frontier. Furthermore,
some of the candidates stated that all factors of production are variable,
and the economy can produce more than two commodities. This
indicates that the candidates were not familiar with the Production
Possibility Frontier and the related concepts in production.
Nevertheless, some candidates in this group failed to score some marks
as they highlighted at least one or two correct assumptions of the
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production possibility frontier, though they failed to explain such points
coherently. Extract 4.2 shows a sample of the poor responses from a
candidate who misinterpreted the question.
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Extract 4.2 is a sample of the poor responses.
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The Extract above shows the candidate provided an incorrect illustration
of Production Possibility Frontier and its assumptions.

2.1.5 Question 5: Theory of Money
This question had parts (a) and (b). In part (a), the candidates were
required to elaborate five factors that influence demand for money. In
part (b), the candidates were given a table and were required to calculate;
(i) Laspayer's Price Index using 2015 as a base year (ii) Paasche's Price
Index using 2013 as a base year and interpret the results.

The question was attempted by 7,360 (100%) of the candidates. Among
them, 2,651 (36%) scored from 0 to 6.5 marks, 2,619 (35.6%) scored
from 7 to 11.5 marks and 2,090 (28.4%) scored from 12 to 20 out of the
20 allotted marks. Generally, the performance of candidates on this
question was good since 64 percent scored 7 marks and above. Figure 5
shows the distribution of the candidates’ scores.
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Figure 5: Candidates' Performance on Question 5

The analysis shows that the 2,090 candidates (28.4%) who performed
well on this question addressed demands of the question. They accounted
for the factors that influence the economic transactions which lead into
the flow of cash in demand for money in the economy. Most of the
candidates explained the three essential factors which are the transaction
motive, precautionary, and speculative motive. The candidates explained

that, if there is more transactions, people demand more money to finance,
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demand money to meet unforeseen contingencies or at a higher interest
rate, demand less money, and hold securities to earn a higher interest rate
in part (a). In part (b), the candidates applied relevant mathematical
formulae to calculate and interpret Laaspayer’s and Paasche's Price
Indices using 2015 and 2013 as a base year respectively. These
candidates failed to score full marks because some of them explained all
the three required motives. However, they provided unsatisfactory
descriptions to some of the motives; others could not calculate or
interpret the findings observed after the calculation for both Laaspeyer's
and Paasche’s indices in the economy. Most of the candidates’ responses
showed their ability and knowledge of the demand for money. The slight
weaknesses observed from the candidates’ responses varied from one
candidate to another, thus affecting their range scores. Extract 5.1
presents a sample of the good responses.
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Extract 5.1 is a sample of the good responses.
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However, the 2,619 candidates (35.6%) with average marks correctly
interpreted the question and provided some correct responses with
relatively correct explanations of some factors in part (a) and
calculated accurately at least one of the price indices in part (b).
Nevertheless, some of the candidates provided few, insufficient, and
less supported points per the requirements of the question in part (b)
due to inadequate arithmetic skills and wrong calculations. They only
managed to fetch information from the table, but they failed to apply
the correct formulae and make interpretation for Laaspayer’s and
Paasche’s Price Index in part (i) and (ii) respectively.

Moreover, in part (a), most of the 2,651 candidates (36%) who
performed poorly on this question failed to elaborate the factors
influencing demand for money. Instead, they provided the
characteristics of money such as acceptability, malleability,
homogeneity, and durability. They failed to address to the demand of
the question. For example, some of the candidates confused the
demand for money today and the demand for money during the barter
trade. They also explained money as those commodities used in
exchange during the modern barter trade. In part (b), most of the
candidates failed to apply mathematical skills and the required
formulae to calculate Laaspayer’s and Paasche’s Price Index. Some
of the candidates used the correct formulae but they failed to
calculate and provide the correct responses. In contrast, others used
the wrong formulae in calculation. For example, a candidate applied
the following wrong formula:

(i)LP = e(%}m%

o' o0

(ii)PP = e(g'—%’jxloo%

n-o

using the above formula leads to incorrect answers. However, some
of the candidates managed to explain at least one or two factors to be
considered in demand for money, though they did not give clear
explanation. Others managed to calculate Paasche's or Laaspeyre's
but they failed to interpret the findings in daily transactions in the
economy. Extract 5.2 shows a sample of the poor responses.
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Extract 5.2 is a sample of the poor responses.

The Extract shows that the candidate failed to elaborate factors
influencing demand for money in part (a). He/she also failed to apply
the correct formula to compute the price indices in part (b).

2.1.6 Question 6: Employment and Unemployment
In this question, the candidates were required to discuss three causes
and three remedies of structural unemployment.

The question was attempted by 8,258 (100%) of the candidates, out of
which 4,189 (50.7%) scored from 0 to 6.5 marks, 2,900 (35.1%)
scored from 7 to 11.5 marks and 1,169 (14.2%) scored from 12 to 19
out of the 20 allotted marks. Generally, the performance of candidates
on this question was satisfactory since 49.3 percent scored 7 marks and
above. Figure 6 shows the distribution of the candidates’ scores.
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Figure 6: Candidates' Performance on Question 6

A total of 1,169 candidates (14.2%) who performed well on this
question failed to discuss the causes and remedies of structural
unemployment. They explained structural unemployment as the
employment caused by overall social and economic changes in society,
which may affect not only demand and supply in specific economic
industries but also rural-urban migration and change of wooden
products to plastic utensils. Some of the candidates provided the
following causes: use of capital intensive production technique, which
replaces many workers in farms and industries and the exhaustion of
mineral deposits which makes specialists in minerals such as
geologists to be thrown out of their jobs. Other candidates gave out
remedies such as control of the rate at which the population is growing
so that the available chances of employment can absorb the increasing
labour force and the use of both fiscal and monetary policies to create
income generating job opportunities. Besides, the people should be
encouraged to consume locally-produced capital as well as consumer
goods to protect domestic industries. These candidates explained the
causes and remedies of structural unemployment though they did not
explain well some points from their responses which determined the
scores by each candidate. Extract 6.1 is a sample of the good
responses.
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Extract 6:1 is a sample of the good responses.
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On one hand, the 2,900 candidates (35.1%) with average marks
managed to discuss the remedies of structural unemployment but
failed to discuss precisely its causes. Some of these candidates
explained the causes of structural unemployment, but they failed to
discuss precisely its remedies. Besides, other candidates provided the
required number of points for both causes and remedies, but most of
them contained unsatisfactory explanations; therefore, their responses
determined their scores.

On the other hand, the 4,189 candidates (50.7%) with poor
performance failed to discuss the causes and remedies of structural
unemployment. Some of the candidates provided the wrong responses
on the causes, such as increase in the costs of production and
government policies. The candidates explained that increase in the cost
of production due to the rise in the price of the factors of production
such as labour. Therefore, the industries failed to cover the costs of
production. Furthermore, other candidates provided the wrong
measure for controlling structural unemployment such as a decrease in
government revenues due to the fall of industrial production, which in
turn deteriorates the standard of living. The responses from the
majority of these candidates showed that they understood the
requirements of the question, but they failed to exhaust the required
number of points or provided unsatisfactory explanations. Their
responses demonstrated a poor understanding of the problem of
structural unemployment in the economy. Extract 6.2 is a sample of
the poor responses.
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Extract 6.2 is a sample of the poor responses.

30



In this Extract the candidate failed to discuss three causes and three
remedies of structural unemployment. Instead, he/she discussed the
general causes of unemployment.

2.1.7 Question 7: Theory of the Firm
In this question, the candidates were required to use six points to
explain why a firm may operate below the shutdown point.

The question was attempted by 3,173 (100%) candidates. Among
them, out of which 866 (27.3%) scored from 0 to 6.5 marks, 1,050
(33.1%) scored from 7 to 11.5 marks, and 1,257 (39.6%) scored from
12 to 20 out of the 20 allotted marks. Generally, the performance of
the candidates on this question was good since 72.7 percent scored 7
marks and above. Figure 7 shows the distribution of the candidates’
scores.

Scores

m0-6.5
7-115
m12-20

Figure 7: Candidates' Performance on Question 7

The 1,257 candidates (39.6%) who performed well on this question
correctly explained why a firm may operate below the shutdown point.
Most of these candidates defined the shut-down point as the situation in
which the price of the firm is set below the average variable cost. For
example, some of the candidates failed to explain that, when the firm is
newly established and it is still growing expecting to gain prosperity in
the long-run may produce below the shutdown point with the
expectation of improvement in the long-run. Also, other candidates
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described the reason for fear of failing to cover higher depreciation
costs that may be incurred during the period of closure. When capital
pieces of equipments such as machines and buildings are shut-down
they need to undergo maintenance which is a cost with zero production,
and, in some cases, a firm may fail to meet them without external aid.
However, clarity and a good flow of ideas in explaining the points,
proper presentation of introduction and conclusion part, and the number
of correct points examined determined the extent of their scores. Extract
7.1 is a sample of the good responses.
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Extract 7.1 is a sample of the good responses.
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The 1,050 candidates (33.1%) who scored average marks failed to
explain all required points. Others explained six points with less
supporting explanations which enabled them achieve average scores.
This performance indicates that the candidates were less equipped
with the knowledge of production costs incurred by the firm both in
the short-run and long-run. However, some of the candidates mixed
the reasons for the operation of the firm in the short-run with long-run
such that they provided partial explanations, and this determined their
scores.

In contrast, the 866 candidates (27.3%) who performed poorly failed
to explain why a firm may operate below the shut-down point. Some
of the candidates explained by giving incorrect points such as low
level of science and technology, poor advertisements, and inadequate
capital. Other candidates explained that poor storage facilities and
media systems may cause the firm to run below the shutdown point
because of poorly developed infrastructures and warehousing
whereby the firms delay to get goods from the producers. The
responses by the majority of the candidates had several weaknesses,
but the candidates managed to write the introductory part as expected.
Extract 7.2 shows a sample of the poor responses.
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Extract 7.2 is a sample of the poor responses.

In this extract a candidate failed to explain why a firm may operate
below the shut-down point. Instead, he/she provided irrelevant
points.

2.1.8 Question 8: Trade Cycle
In this question the candidates were required to examine five causes of
trade cycle in the economy

The question was attempted by 11,195 (100%) of the candidates;
among them, 239 (2.1%) scored from 0 to 6.5 marks, 1,445 (12.9%)
scored from 7 to 11.5 marks, and 9,511 (85%) scored from 12 to 20
out of the 20 allotted marks. Generally, the performance of candidates
on this question was good, since 97.9 percent scored 7 marks and
above. Figure 8 shows the distribution of the candidates’ scores.
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Figure 8: Candidates’ Performance on Question 8

The 9,511 candidates (85%) who scored high marks addressed the
demand of the question. The candidates analysed the trade cycle as the
fluctuations of the business activities in the economy which occur in
the long-term economic growth of boom and depression. For example,
some of the candidates successfully examined the causes of trade
cycles in the economy like innovations in the structure of the economy
and the marginal efficiency of capital. The candidates explained
innovation as a cause of the fluctuation of the business activities in the
economy because innovations tend to move resources from the
production of old consumable and productive goods to newly invented
products; fluctuations are thus put in outflows. Fluctuations in the rate
of investment are mainly caused by fluctuations in the marginal
efficiency of capital which in turn depends on the supply price of
capital assets and their prospective yield. The prospective vyield
depends on the business expectations, although marginal efficiency of
capital is the principal cause of cyclical fluctuations. The scores of the
candidates in this group varied because some of them did not exhaust
all the required points while others provided the necessary details with
relevant examples to only some of the points. This indicates that the
candidate had a sufficient knowledge about the topic concerned. A
sample of the good responses is shown in Extract 8.1.
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However, the 1,445 candidates (12.9%) who scored moderately on
this question managed to explain the required points averagely. This
is due to partial knowledge about Trade Cycle. For example, some of
the candidates provided less than the five points required while others

%
OZbrﬁreNLch WW/

Extract 8.1 is a sample of the good responses.
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exhausted all the required points but did not provide sufficient
explanations.

Furthermore, the 239 candidates (2.1%) who performed poorly failed
to examine the causes of trade cycle in the economy; and instead, they
explained that availability of markets, raw materials, skilled and
unskilled labourers are the causes of fluctuations in business
activities. The candidates wrote that the availability of these factors of
production help sellers or buyers to purchase the commodities needed
in the production or consumption processes. Some of the candidates
provided factors such as transport and communication facilities as the
main causes of business activities since they facilitate communication
during the dry period unlike during the rainy season, thus fluctuations
in the economic activities. Most of the candidates in this group
understood the requirements of the question, but they had inadequate
knowledge of examining the required conditions. Some candidates
confused the causes of trade cycle and its effects such as changes in
the level of employment and aggregate demand. Apparently, they had
insufficient knowledge of the subject matter. The variation in their
marks was caused by their different abilities to give clear
explanations with relevant examples. Extract 8.2 shows a sample of
the poor responses.
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Extract 8.2 is a sample of the poor responses.
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2.2

2.2.1

In this Extract the candidate failed to examine the causes of trade
cycle in the economy. Instead, he/she explained the availability of
resources in order to produce goods for the available markets.

PAPER 2: ECONOMIC DEVELOPMENT

Question 1: Economic Integration and Cooperation
The candidates were required to differentiate economic integration
from economic cooperation by giving five points.

The question was attempted by 11,093 (100%) of the candidates.
Among them, 5,192 (46.8%) scored from 0 to 3 marks, 4,151 (37.4%)
scored from 3.5 to 5.5 marks, and 1,750 (15.8%) scored from 6 to 10
out of the 10 allotted marks. Generally, the performance of the
candidates on this question was average, since 53.2 percent scored 6
marks and above. Figure 9 shows the distribution of the candidates’
scores.
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Figure 9: Candidates’ Performance on Question 1

A total of 1,750 candidates (15.8%) who performed well on this
question had a sufficient knowledge of the concepts of economic
integration and cooperation. They managed to differentiate Economic
Integration from Economic Cooperation. For example, some of the
candidates described precisely that economic integration is restricted to
a certain geographical area within the continent and the member
countries need to have similar political and social backgrounds while
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economic cooperation does not have regional or geographical
boundaries as it involves countries from different regions in and
outside the continent and does not require such similarities. candidates
in this category provided the East African Community as an example
of the economic integration and Commonwealth as an example of the
economic cooperation. Such performance could be attributed to the
fact that the topic is taught in other subjects like Commerce,
Geography and General Studies. Therefore, the candidates might have
benefited from such lessons to answer the question. Their scores in this
category varied due to several factors. Example the number of correct
responses provided and the degree of accuracy of the candidates’
explanations. Extract 9.1 is an example of the candidate’s good
responses.
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Extract 9.1 is a sample of the good responses.
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Furthermore, the 4,151 candidates (37.4%) who performed
moderately differentiated economic integration and economic
cooperation. They provided less than the five differences required.
Most of the candidates distinguished the two concepts and supported
them with the required explanations and examples although only to
some extent. Other candidates provided the five required differences
but partially explained some of the points. In contrast, others gave
satisfactory explanations with examples but provided less than the
five differences required. Further observations found that some of the
candidates’ responses contained a few correct differences mixed up
with the advantages of economic integration and cooperation.
Examples include the member countries may enjoy the benefits of
specialisation. These learners might have inadequate knowledge of
the topic concerned.

Additionally, the 5,192 candidates (46.8%) with poor performance on
this question failed to differentiate economic integration from
economic cooperation. Some candidates provided forms of economic
integration such as Preferential Trade Area, Custom Union and
Common Market Cooperation as the factors which differentiate
economic integration from economic cooperation. Others categorised
member countries in the economic integration as those who are
located in the same continent while those which include members
from different continents as belonging to economic cooperation.
Other candidates wrongly understood the question. This explained the
advantages of economic integration and cooperation instead of their
differences while other candidates discussed the necessary conditions
for economic integration instead of the difference between those
concepts in the economy. Repetition of the points was another
weakness observed in the candidates’ responses. A sample of the poor
responses is shown in Extract 9.2.
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Extract 9.2 is a sample of the poor responses.

In this Extract, the candidate wrongly described the differences
between economic cooperation and economic integration.

Question 2: Economic growth and Development
The question required the candidates examine five benefits of
economic growth in Tanzania economy.

The question was attempted by 11,303 (100%) of the candidates.
Among them, 1,113 (9.8%) scored from 0 to 3 marks, 4,434 (39.3%)
scored from 3.5 to 5.5 marks, and 5,756 (50.9%) scored from 6 to 10
out of the 10 allotted marks. Generally, the performance of the
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candidates on this question was good, as 90.2 percent scored 6 marks
and above. Figure 10 shows the distribution of the candidates’ scores.

Score

m0-3
50.9% 3.5-5.5
m6-10

Figure 10: Candidates’ Performance on Question 2

The 5,756 candidates (50.9%) who had good performance on this
question understood its requirements. They managed to examine the
benefits of economic growth in the Tanzanian economy. Most of
them explained that improved balance of payments and more social
welfare benefits due to economic growth lead to an increase in gross
national product, which in turn enable the country to have enough
goods for consumption and export and a country may have more
receipts from abroad as opposed to her payments to abroad. In case of
increased social welfare benefits the candidates explained that a
country can provide social welfare benefits such as unemployment
benefits, old age pensioners, free medical and educational services.
The candidates managed to examine the benefits of economic growth
due to sufficient knowledge and skills in economic growth and
development. Other benefits which were discussed by candidates
include decrease in dependence on external assistance due to the
increase in self-sufficiency, political stability due to increase in
literacy, industrialisation, decline in the cost of living and increase in
the standard of living, due to increase in high-quality food, shelter,
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better standards of hygiene and medical care, and a higher standard of
education. However, some of the candidates in this category failed to
provide the necessary details with examples as required by the
question while others provided less than the five points required.
Consequently, these candidates failed to get full marks on this
question. Extract 10.1 is a sample of the good responses.

@ Pt (L Hog__uenk_or

| e Y Gwed o7 eemony oA o grven
! [

oy Gowr o Qower  loved o Vo Widuy
Qonede L8 oo, gath VWOW/ b atfuldd
ok et b ublsadin of vesmungss 2[?
(owd”, wufw, mineved, fnget owd  fuuon, —
vOsounces omd otowwy ot W Wl ot
i oy te  buweth fov  eownat Gand
§ T yaeag oy lwel of lwesfuund;
| ;mxwﬂor vedudhel st  educod oo
! | r%uﬂif“mwzf fﬂ/wrccr/ romﬁ Megfrandl | (ot
oud endiddinn | dHon. o wlo fud |
b eite tho nwéL?/ &ngﬂqw{ copuloghin il |
A com,ﬁfu unca e <t~ GUP F e conduy: i
‘ ' _L\AMLQ p (Z,Wo,? VPW%M '
Etﬁkcvmr% Ceomomae_ockiunes U, /%Juht, ______ i
. in()t)\/w}.:ﬁ?_nfm( Mﬂm?u e b 'Hrt%t Bﬁ%m”e&/)
..‘____‘,uﬁ?nogp L‘W fug_Uiem Puww(uﬂ u e/
Loty Cewee dosonse ' ¥ao  doppudlomen
:VNJHO /JM the (mm’fm'd ’

i ]

—~

eowned) oumone, el e ( ;m&m;
: w?mw ofﬁ éac:'t a2z} r/Ce, ﬁDJ a/ma
oMo oo 440 prowledrhvi -

Extract 10.1 is a sample of the good responses

Moreover, the 4,434 candidates (39.3%) who had average
performance on this question outlined the benefits of economic
growth, but they provided inappropriate explanations. Most of them
outlined less than the five benefits required, while those who
exhausted all five benefits provided unsatisfactory explanations
without vivid examples. Some of the candidates confused the
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concepts economic growth with economic development whereby
economic development includes the distribution of resources in the
economy while economic growth deals only with the quantitative
growth of the economy. Thus, some of the candidates did not
understand the meaning of economic growth and economic
development. Accordingly, they partially explained some points.
This shows that the candidates had insufficient knowledge about that
particular topic. Their partial knowledge is evident in their respective
scores.

Furthermore, the 1,113 candidates (9.8%) who performed poorly on
this question misconceived the requirements of the question and
provided incorrect responses about the shortcomings of economic
growth instead of the benefits of economic growth in the Tanzanian
economy. For example some of the candidates explained the
weakness of economic growth such as increase in the income gap and
poor standards of living for the majority instead of the benefits of
economic growth. In case of income inequality, some of the
candidates explained that the few rich people accumulate more of the
wealth of the nation and become richer while the majority become
poorer and fail to meet even the basic needs. Apparently, they had
insufficient knowledge about the concepts of economic growth and
development. A further analysis of the responses of the candidates
showed that some of them understood the requirements of the
question, but they failed to give the number of points required.
Additionally, others deviated from the question and explained the
disadvantages instead of the benefits of economic growth. A sample
of the poor responses is shown in Extract 10.2.
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Extract 10.2 is a sample of the poor responses.

In this Extract the candidate provided areas of cooperation instead of
the benefits of economic growth in the Tanzanian economy.

2.2.3 Question 3: National Income
The question had three parts (a), (b), and (c) in which data were given
in the table. In part (a), the candidates were required to present the
given data using Lorenz Curves. In part (b), they were required to give
the economic interpretation of the information revealed by the curves.
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In part (c), they were required to explain briefly five benefits of
income inequality in the economy.

The question was attempted by 8,513 (100%) of the candidates.
Among them, 1,461 (17.2%) scored from 0 to 6.5 marks, 3,576 (42%)
scored from 7 to 11.5 marks and 3,476 (40.8%) scored from 12 to 19.5
out of the 20 allotted marks. Generally, the performance of candidates
in this question was good, as 82.8 percent scored 7 marks and above.
Figure 11 shows the distribution of the candidates’ scores.
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Figure 11: Candidates’ Performance on Question 3

A total of 3,476 candidates (40.8%) performed well on this question.
They understood the requirements of the question due to their
sufficient knowledge about national income accounting and
determination. This indicates a good mastery of the subject matter in
the particular topic. Most of the candidates who had a sufficient
mathematical knowledge and skills correctly presented the data
through Lorenz Curves and clearly gave the economic interpretation
of the information revealed by the curves in part (a) and (b). In part(c),
most of the candidates who attempted this question managed to
explain the benefits of income inequality, such as the expansion of the
private sector since the individuals are employed more in the private
sector, it enables the few rich people to undertake large scale
production and increase the level of employment in the economy as
well as wealth or riches becoming an incentive to work since the rich
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people undertake risks, efforts and time in production to become
richer. The variation of marks among the candidates was caused by the
individual ability, accuracy, and mathematical skills to calculate,
interpret, and provide the necessary details in responding to the
question. A sample of the good responses is shown in Extract 11.1.
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Extract 11.1 is a sample of the good responses.

Moreover, the 3,576 candidates (42%) who had an average
performance demonstrated inadequate arithmetic skills. Hence, they
applied the wrong formulae to calculate. In part (a) and (b) only a few
candidates managed to plot data through Lorenz Curves and interpret
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the information revealed by the curves. Most of the candidates in this
category managed to provide correct responses to part (c). They gave a
sufficient number of points with examples. In this part, some of the
candidates explained less than the five points required on the benefits
of income inequality in the economy while those who exhausted all the
five points provided unsatisfactory explanations to some of the points.
The weakness observed made the candidates fail to score high marks.

Furthermore, the 1,461 candidates (17.2%) with the lowest marks
failed to use the data provided to construct Lorenz Curves and to
interpret the Lorenz curves drawn to give the economic interpretation
in part (a) and (b) due to their poor mathematical knowledge and skills.
While in part (c), some of the candidates managed to explain at least
one benefit of economic growth. In contrast, others provided all the
five required points, but they provided unsatisfactory or partial
explanations. For example, some of the candidates gave incorrect
answers by explaining that income inequality improves; the
commercial banks; schools and small scale industries. This shows that
the candidates lacked sufficient knowledge about the concepts of
measuring and determining national income. Other candidates gave the
disadvantages of income inequality instead of the benefits of income
inequality; for instance, one of the candidates stated that rich people
have a higher marginal propensity to consume. Therefore,
consumption will decrease in the economy. Conclusively, the
responses given by each candidate determined their respective scores.
Extract 11.2 is a sample of the poor responses.
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Extract 11.2 is a sample of a poor response.

In this Extract the candidate who failed to present the data through
Lorenz Curves drew a linear graph and failed to give economic
interpretation as well as to explain the benefits of income inequality

to the economy.

Question 4: Public Finance

The question had three parts namely (a), (b) and (c). The information
was given using a table showing different categories of direct and
indirect taxes. In part (a), the candidates were required to calculate the
amount of tax payable in each category and fill in the blank spaces. In
part (b), they were required to identify the taxation system in
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categories (a), (b), and (c) and give the reasons for their classification
in each category. In part (c), they were required to give one practical
example of the taxes imposed in each of the categories (a), (b) and

(©).

The question was attempted by 6,044 (100%) of the candidates; among
them, 454 (7.5%) scored from 0 to 6.5 marks, 1,134 (18.8%) scored
from 7 to 11.5 marks, and 4,456 (73.7%) scored from 12 to 20 out of
the 20 allotted marks. Generally, the performance of candidates on this
question was good, since 92.5 percent scored 7 marks and above.
Figure 12 shows the distribution of the candidates’ scores.

100.0
90.0
80.0 73.7
70.0
60.0
50.0
40.0 -
30.0
20.0
10.0 - 73

0o

0-6.5 7-11.5 12-20
Scores

Percentage of Candidates

18.8

Figure 12: Candidates' Performance on Question 4

The 4,456 candidates (73.7%) who performed well in this question
managed to calculate and identify the taxation systems. Such
performance might be because the topic is taught in commerce as
well as in economics subjects. Hence, the candidates transferred the
knowledge to answering the question. For example, some of the
candidates managed to calculate the amount of tax payable in part
(a) and to identify the taxation system in category (a), (b), and (c) as
well as to give reasons for the identification in each category.
Furthermore, the candidates managed to give practical examples of
the taxes imposed in each category. For instance, in category ( a),
the candidates explained that it is a progressive taxation system in
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which the amount of tax paid is directly proportional to the level of
income. That is, as the income of an individual increases, the tax
rate also increases and this is always the case with “Pay As You
Earn” PAYE which is a direct tax imposed on employees. Some of
the candidates identified category (b) as a proportional taxation
system or an indirect tax imposed on consumer goods and services
such as VAT. This is because the same proportion or percentage of
the price of a commodity is paid as tax by all income groups of
people in the economy. Other candidates identified category (c) as
an indirect tax or specific tax that is imposed on properties or
commodities at a fixed rate. For example, if the Government
imposes a tariff for all imported motorcycles in the country to be
10,000/= Tanzanian Shillings regardless of their current market
value, such a taxation system is regressive because low income
earners will pay a greater proportion or percentage of their total
income as tax, unlike the higher income earners. Nevertheless, the
candidates’ scores on this question varied due to several factors.
These factors include the mathematical skills and ability to
calculate, interpret and identify the taxation systems and their
relevant practical examples in the economy. Extract 12.1 shows a
sample of the good responses.
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Extract 12.1 is a sample of the good responses.

However, in part (a), 1,134 candidates (18.8%) with average marks
showed adequate arithmetic skills and application of relevant
formulae. The candidates identified the requirements of the question.
However, they failed to provide correct responses to the whole
question. They managed to calculate the tax payable in category (a),
(b) and (c) and filled in the blank spaces. In part (b), most of the
candidates identified one or two taxation systems in category (a), (b)
and (c). However, most of the candidates failed to give one practical
example of the taxes imposed in each category. This is due to the fact
that the candidates failed to integrate their theoretical knowledge into
the classroom and the practical application of the knowledge of
taxation to the Tanzanian economy.

Furthermore, the 454 candidates (7.5%) who performed poorly on this

question failed to calculate the amount of tax payable to fill in the

blank spaces, to identify the taxation systems, and to give one practical

example of the taxes imposed in each category. Some of the candidates
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instead of identifying the taxation systems in each category, drew
incorrect diagrams to illustrate the taxation systems as progressive,
proportional, and regressive. In contrast, others provided corporate
taxes, excise duties, and Ad Valorem taxes. Furthermore, one of the
candidates failed to calculate the amount of tax payable. They also
incorrectly identified taxation systems such as repossession,
retrospective and adhesive. This situation indicates that they had
insufficient knowledge about the concepts of direct and indirect taxes
imposed in the Tanzanian economy. A sample of the poor responses is
shown in Extract 12.2
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Extract 12.2 is a sample of the poor responses.

The Extract shows that the candidate failed to calculate the amount of
tax payable and to identify the taxation systems in categories (a), (b)
and (c). Instead, he/she filled wrong answers in the blank spaces and
drew irrelevant diagrams.

Question 5: Financial Institution

In this question, the candidates were asked to describe six advantages
and four disadvantages of the operation of foreign commercial banks
in the economy.

The question was attempted by 8,069 (100%) of the candidates;
among them, 1,809 (22.4%) scored from 0 to 6.5 marks, 3,877
(48.1%) scored from 7 to 11.5 marks, and 2,383 (29.5%) scored from
12 to 19.5 out of the 20 allotted marks. Generally, the performance of
the candidates on this question was good, since 77.6 percent scored 7
marks and above. Figure 13 shows the distribution of the candidates’
scores.
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Figure 13: Candidates’ Performance on Question 5

A total of 2,383 candidates (29.5%) performed well on this question.
They managed to describe the advantages and disadvantages of the
operations of foreign commercial banks in the economy. Some of the
candidates managed to describe precisely the advantages such as;
increase in the assets of the country through investment as they build
offices to accommodate the commercial transactions and increase in
demand for the social and economic infrastructures such as transport,
warehousing, water, electricity and communications. The good
performance on this question might be because most of the candidates
were exposed to many commercial bank operations in their daily life.
This implies that the candidates had acquired sufficient knowledge
about financial intermediaries in the economy. However, the marks
scored by each candidate varied due to their differences in responding
to the questions. A sample of the good responses is shown in Extract
13.1.
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Extract 13.1 is a sample of the good responses.

Furthermore, the 3,877 candidates (48.1%) who performed moderately
insufficiently explained the advantages and disadvantages of the
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operations of the foreign commercial banks in the economy. For
instance, concerning advantages, the candidates provided less than the
six required advantages. In addition, those who exhausted all the
advantages unsatisfactorily explained to some of the points without
vivid examples. As for the disadvantages the candidates gave less than
the four required points. This indicates that they had insufficient
knowledge of the topic.

However, the 1,809 candidates (22.4%) with poor performance
misconceived the question and failed to address the requirements of
the question. Some of them gave the advantages and disadvantages of
the local commercial banks instead of foreign commercial banks. In
addition, others partially explained on the advantages and
disadvantages of the operations of foreign commercial banks in the
economy. For example, some of the candidates explained that foreign
commercial banks encourage the establishment of the local financial
institutions since they are more developed in science and technology,
and they are concentrated mainly in the rural areas. Similarly, other
candidates explained that foreign commercial banks employ only
foreigners to work in our country, and they are paid higher salaries.
This indicates that the candidates had insufficient knowledge of
financial institutions. Extract 13.2 shows a sample of the poor
responses.
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Extract 13.2 is a sample of a poor response.

The Extract shows that the candidate provided monetary policy
instead of the advantages and disadvantages of foreign commercial
banks.

Question 6: Structure of the Tanzanian Economy

In this question, the candidates were required to suggest six
strategies which can be adopted by the Tanzanian government to
improve production in the agricultural sector.

The question was attempted by 10,236 (100%) of the candidates.
Among them, 88 (0.9%) scored from 0 to 6.5 marks, 1,754 (17.1%)
scored from 7 to 11.5 marks, and 8,394 (82%) scored from 12 to 20
out of the 20 allotted marks. Generally, the performance of
candidates on this question was good, since 99.1 percent scored 7
marks and above. Figure 14 shows the distribution of the
candidates’ scores.
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Figure 14: Candidates' Performance on Question 6
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The 8,394 candidates (82%) with high scores in this question
understood the requirements of the question. The candidates
analysed the real situation in the current agricultural sector and
suggested potential strategies to be adopted to improve the
agricultural sector. For example, some of the candidates suggested
strategies like; to encourage farmers to use modern agricultural
implements and organic fertilizers because they are cheap and
friendly to the environment, provision of extension services and
credit facilities to farmers to enable them advance in science and
technology and increase Gross National Product, and establishment
of mechanization and diversification of agriculture in order to
increase the land under cultivation as well as increasing
productivity in the agricultural sector. Other candidates suggested
research facilities in which the Government should facilitate and use
domestic research centres, which are important in adopting
imported technology to local conditions. These candidates failed to
score full marks because they provided explanations which did not
contain some of the key concepts in some points. Besides, some of
them did not write the introduction and conclusion parts in their
responses. The weaknesses observed from the candidates’ responses
varied from one candidate to another, affecting their range scores.
Extract 14.1 shows a good response from one of the candidates.
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Extract 14.1 is a sample of the good responses.

Moreover, the 1,754 candidates (17.1%) with average scores
supplied partial explanations without exemplifying the strategies
that can be adopted by the Government of Tanzania to improve the
agricultural sector. The candidates correctly interpreted the question
and provided suitable strategies. They provided general strategies
for improving production instead of specifically explaining the
strategies to be adopted to improve the agricultural sector in
Tanzania. Some of the candidates in this group repeated the same
points which had already been awarded marks, only with different
explanations. Although some weaknesses were observed in their
explanations, they did not provide all the basic information
required.

Furthermore, the 88 candidates (0.9%) with poor performance failed
to understand the demands of the question, to suggest strategies
which can be adopted by the Tanzania government to improve
production in the agricultural sector. Some of the candidates had
insufficient knowledge and skills in the agricultural sector. For
example, some candidates wrongly suggested that the establishment
and improvement of small scale industries in the rural areas to
reduce the level of unemployment in the economy, to improve the
standard of living of the people in the villages by providing them
with manufactured goods, and to mobilize more people especially
those who are unemployed in the urban and marketing centres to
participate in the agricultural sector. However, many candidates in
this category described at least two essential strategies to improve
production. The disparities observed on their scores were due to the
accuracy of their correct points, the number of correct points per
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question’s demand and good presentations of introduction and
conclusion parts. This shows that the candidates had inadequate
knowledge of the subject matter. Extract 14.2 illustrates a poor
response.
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Extract 14.2 is a sample of the poor responses.

2.2.7 Question 7: Marketing and Distribution

In this question, the candidates were required to explain the six
main problems that have faced cooperative societies in most less
developed countries like Tanzania.
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The question was attempted by 9,697 (100%) of the candidates;
among them, 1,796 (18.5%) scored from 0 to 6.5 marks, 6,233
(64.3%) scored from 7 to 11.5 marks, and 1,668 (17.2%) scored
from 12 to 20 out of the 20 allotted marks. Generally, the
performance of candidates on this question was good, since 81.5
percent scored 7 marks and above. Figure 15 shows the distribution
of the candidates’ scores.

100.0 -
90.0 -
80.0 -
70.0 - 64.3
60.0 -
50.0 -
40.0 -

30.0 - 18
20.0 | . 17.2

0.0 - .
06.5 7-11.5 12-20
Scores

Percentage of Candidates

Figure 15: Candidates’ Performance on Question 7

As pointed out above, 1,796 candidates (18.5%) got high marks.
They managed to explain the main problems that have faced
cooperative societies in most less developed countries like
Tanzania. The candidates explained clearly how farmers are
exploited by middlemen and other private crop buyers in the rural
areas. For example, some of the candidates explained that
cooperative societies face cut-throat competition from the private
sector unless they improve their operations and run on commercial
bases they are likely to be wiped away, many members especially in
the rural areas are illiterate, and they tend to be conservative. Other
candidates explained that many cooperative societies lack capital
and credit facilities to mechanise and expand business. In the rural
areas there is a shortage of financial intermediaries because the
income of the farmers fluctuates rapidly in the economy. As a
result, they lack capital to expand their activities. Nevertheless,
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clarity and a good flow of ideas on the explanations to the points,
the number of correct points examined, proper presentation of
introduction and the conclusion part determined the differences in
their scores. Extract 15.1 shows a sample of the good responses.
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Extract 15.1 is a sample of the good answers.

Moreover, the 6,233 candidates (64.3%) with average scores on this
question managed to explain unsatisfactorily some problems
without vivid examples. Others outlined less than the six points
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required. They failed to analyse and defend their points with
relevant examples. They might have failed to integrate the
knowledge of cooperatives societies with their activities in the
economy. However, some of these candidates explained the
problems in a negative way and considered such points as
challenges, which were incorrect. Explanations such as exploitation
of farmers by middlemen or most farmers in the rural areas are
illiterate and conservative were given by some of the candidates as
challenges. Others mixed the correct with incorrect responses
because they also wrote about the challenges facing price
fluctuation and transportation problems in rural areas, where most
of the members are found.

Furthermore, the 1,796 candidates (18.5%) with poor performance
failed to address the demand of the question. Some of the
candidates misconceived the question by providing challenges with
inadequate explanation. In addition, others provided some points
such as poor development of social and economic infrastructures
which include educational facilities, water, electricity, warehousing,
transport and communication networks. They only explained how
they connect people instead of explaining them how they act as a
stumbling block to the operations of the cooperative societies in the
rural areas. Other candidates supported the activities of the private
crop buyers especially when cooperative societies are highly
indebted whereby the activities of the middlemen which are
financed by private crop buyers tend to kill the activities of the
cooperative societies. This shows that the candidates had poor
knowledge about the operation and contribution of the cooperative
societies to the Tanzanian economy. Some candidates mixed up the
correct and incorrect responses. They failed to distinguish problems
from challenges. Also, some candidates’ responses indicated several
weaknesses. However, some candidates managed to write the
introductory and the conclusion parts. Extract 15.2 illustrates a poor
response of a candidate.
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Extract 15.2 is a sample of the poor responses.

2.2.8 Question 8: International trade

In this question, the candidates were required to give six causes of
disequilibrium in the balance of payments of the economies of less
developed countries.

The question was attempted by 2,693 (100%) of the candidates.
Among them, 390 (14.5%) scored from 0 to 6.5 marks, 993 (36.9%)
scored from 7 to 11.5 marks, and 1,310 (48.6%) percent scored
from 12 to 20 out of the 20 allotted marks. Generally, the
performance of candidates on this question was good, since 85.5
percent scored 7 marks and above. Figure 16 shows the distribution
of the candidates’ scores.
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Figure 16: Candidates’ Performance on Question 8
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The 1,310 candidates (48.6%) who scored high marks managed to
elaborate the causes of disequilibrium in the balance of payments in
the economy by analysing the total receipts and payments in the
economy. Some of the candidates explained that structural
disequilibrium and devaluation policy are the major causes of this
disequilibrium. When fundamental changes take place in the
economies of these countries, they lead into a greater outflow of
capital or a smaller inflow of capital and cause disequilibrium in the
balance of payments. In contrast, price elasticity of demand of the
exports of these countries is inelastic. Therefore, when they employ
devaluation policy to adjust these disequilibrium, they worsen the
balance of payments. For example, a candidate explained that most
of the exports of the developing countries are low primary
agricultural and mineral products. In addition, the prices of these
commodities not only fluctuate but also these countries are not
flexible to produce other commodities and as a result they end up
earning low foreign currencies. Consequently, the candidates
indicated a good mastering and competence in International Trade.
Nevertheless, a few candidates in this group confused the factors
which cause disequilibrium with those which cause deteriorates the
balance of payments as all these tend to make the less developed
countries suffer due to unfavourable terms of trade while the
developed countries enjoy the favourable terms of trade. Extract
16.1 shows a sample of the good responses.
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Extract 16.1 is a sample of the good responses.
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However, 993 candidates (36.9%) who had average scores on this
question explained less than the six required causes of
disequilibrium in the balance of payments of the economies of less
developed countries. Others failed to clearly explain and support
their points with examples. Apparently, the candidates lacked
sufficient knowledge of the topic. The observations made on the
responses of the candidates in this group revealed that they were
knowledgeable about the subject matter, but they failed to present
in the required format of an essay and the provision of the points
with partial explanation and lack of relevant vivid examples and
arguments to support the points required by the demand of the
question.

Moreover, the 390 candidates (14.5%) who scored poorly failed to
give the causes of disequilibrium in the balance of payment of the
economies of less developed countries. Some of the candidates
provided incorrect points that both developing and developed
countries engage in international trade as equal partners; this is not
entirely  true because the developed countries have a greater
bargaining power, and they enjoy both monopsonistic and
monopolistic power in the world market while the developing
countries are only price-takers. Accordingly, they suffer
disequilibrium in the balance of payments. Most of the candidates
who performed poorly showed a poor understanding of the subject
matter. They had a poor command of the English language and
interpreted the question wrongly. However, some candidates
managed to explain at least two correct causes of disequilibrium in
the balance of payments as well as the introductory and conclusion
parts of the responses. These weaknesses made the candidates score
different marks. Extract 16.2 shows a sample of the poor responses.
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Extract 16.2 is a sample of the poor responses.

In this Extract, the candidate failed to give causes of disequilibrium
in the balance of payments in the economy as he/she provided the
problems of economic planning.

3.0 ANALYSIS OF CANDIDATES’ PERFORMANCE PER TOPIC

The topic-wise analysis of the 2020 ACSEE in the Economics subject shows
that the performance of the candidates was good since the candidates had good
performance in 13 out of the 16 topics examined. The performance of the
candidates in the topics tested is summarized in Appendix A, where green
indicates topics with good performance; yellow colour indicates topics with
average performance; and red indicates topics with weak performance.

The topics with good performance include Structure of Tanzanian Economy
(99.1%), Trade Cycle (97.9%), Population (96.60%), Public Finance (92.5%),
Economic growth and Development (90.2%), International Trade (85.5%),
National Income (82.8%), Marketing and Distribution (81.5%), Subject
Matter of Economics (78.1%), Financial Institution (77.6%), Theory of the
Firm (72.7%), Theories of Demand and Supply (72.2%) and Theory of Money
(64.0%). The good performance in these topics could be attributed to the fact
that the candidates followed the required instructions; they identified the
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4.0

requirements of the questions; and they were knowledgeable about the topics
examined.

The averagely performed topics were Economic Integration and Cooperation
(53.2%) and Employment and Unemployment (49.3%). The average
performance resulted from the misconception of some concepts, partial
knowledge about the concepts related to the questions and insufficient
explanations of some points. However, the performance in the topic of
Production was weak, with an average of 14.5% . The poor performance in
this topic was caused by misinterpretation of the question; misunderstanding
the task and some concepts in the question; inadequate knowledge of the
topic, especially on the part of arithmetic skills, and proficiency of the
students in English language.

A comparison of candidates’ performance per topic for ACSEE 2019 and
2020 shows that, in the 2020 examination, there has been a noticeable
improvement in candidates’ performance on the topics of Theory of Money
and International Trade compared to the 2019 examination in which the
candidates poorly performed. Moreover, compared to 2019, the candidates
performed poorly in the topic of Production in 2020. The poor performance in
this topic was caused by misinterpretation of the question, misunderstanding
of some concepts in the questions, and inadequate knowledge about the sub-
topics tested, especially those involving mathematical derivations. The
comparison of the candidates’ performance in each topic for ACSEE 2019 and
2020 is shown in Appendix B.

CONCLUSION AND RECOMMENDATIONS

4.1 Conclusion

The general performance of the candidates in the Economics subject for
the 2020 Advanced Certificate of Secondary Education (ACSEE) was
good. The candidates demonstrated good performance in 13 out of 16
topics examined, in Papers 1 and 2. The candidates performed well in this
examination because they managed to identify the demands of the
questions, followed the required instructions, and had a sufficient
knowledge of the subject matter. In contrast, other candidates did not
perform well because of the wrong interpretations of the requirements of
the questions and inadequate knowledge on arithmetic and drawing skills.
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4.2 Recommendations

To improve the performance of prospective candidates in this subject, the
following are the recommendations:

(@) Students should be encouraged to do many exercises to get experience
in applying various formulae or concepts in answering questions.
They should also be advised to revise all the topics to make sure that
they understand the concepts well.

(b) Subject teachers should strive to equip themselves with learner
centred teaching and learning methods. They should also equip
themselves with knowledge about current economic issues and apply
them in teaching and learning Economics. This will build interest or
motivate students in the learning process.

(c) Subject teachers should ensure that questioning and discussion elicit
students’ thinking, and solution strategies should build on them,
leading to great clarity and precision.

(d) School administrators should work with subject teachers to facilitate
study tours to central and commercial banks. They should invite guest
speakers as part of teaching and learning activities to broaden
students’ understanding. This will enable students to acquire
knowledge and skills in different areas of the subject.

(e) The Economics Syllabus should be covered on time by subject
teachers to make students acquire enough knowledge about all topics.

(F) School administrators should ensure the availability and proper use of
internet facilities or online materials which facilitate study as an
alternative source of teaching and learning activities. This will
broaden students’ understanding for them to acquire knowledge and
skills in different areas of the subject.
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Appendix A
Analysis of Candidate’s Performance in each topic

S/n Topics No.of | % of candidates Remarks
questi | who scored the
ons average of 35 or
above

14 Economic Cooperation 1 |532 Average
and Integration
15 Employment and 1 49.3 Average

Unemployment
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